33 nwwnwhuwgnipjwl 2015p. qGnudGiph wiwlp

thnthnfudwé

Quthh Snedwipp
unnp UGYwaniip QGawh Gup dhwynnp Uhuwinnh ghln Al (hwg. npwiny)
33 nuuwhiwgnipjwl ywhywlnud
PwdhG 03 lunwdp 04 Nwu 01 Spwghp 01
Swnuw)nip)ntblbp
65211100/1 | qugh pwpfuntd rCUA nnwy 45,545,300 1 45545.3
65311100/1 | bEGupwlwinupjwl pwatuntd rLUS npwad 47,591,200 1 47591.2
65111100/1 | fudbint 9ph pwzfuncd PLUSI npwi 4,912,000 q 4912.0
whunwhwGiwh b dwywpnyyslbtiph PLUR npwy
ns0swgiwh dwnwynip)nLGtn 4 1
SR pwnwpw)hl Ywd gyninulwl Juypbpntd wa.0
432.0
32411130/1 | hwiwguwlg (of! npwa 5,915,200 1 5915.2
64121200/1 | thnuinh wrwpdwh dwnwjnipyniGbbn PLUSR npwd 3,000,000 1 3000.0
GtpphG thnuinwjhG L PLUS npwd
121400/ unLphwinwlwihGownw)nientGatp 5,500,000 1 5500.0
inbnwyhG htnwhunuwjhl pCul npwd
64211110/1 PR iy 30,553,200 1 30553.2
dhopwnwpwjhb hbnwhunuwjh PLUS npuwd
64211120/1 SliEuHBA0N 29,191,100 1 29191 1
nywbtph thwpbipwihb dawldwl peusl npwad
72311120/1 PR 1,100,000 1 1100.0
99600000/1 |qGnid shwhnhuwgnn wy| Gwfuubip Q20 npwd 1,262,500 1 1262.5
thnfuwnpwihengGiiph htin Yuwdwo PLUS npwd 6
ik wwwhndwapwlwi wrw)jnipjntGatp i e ! 3640.0
99600000/2 |qGnLl shwGnhuwgnn w) Gwhuubip q20 npwd 9,829,900 1 9829.9
qpwinp pwpgiwbnipjwl c3 npwd
79531100/1 SighuinsnLaGkn 2,700,000 1 2700.0
pwhwdnp pwnpqiwbnipjwl c3 npwad
79541100/1 S miEDUGHER 300,000 1 300.0
hwdwwwhwluwb hwiwbwpgsw)hb PLUS npwd
72211174/1  |épwapwyht thwpbpltiph dawliwl 200,000 1
gwnwnipnLGOGn 200.0
inwpwépwihb guigh htn uwdwo c3 npwad
TR | e 45,593,000 1 45593.0
22211200/1 | wwawnnGwlwh wduwagptip PCUS npwa 186,000 1 186.0
22211300/1 | wwppbpwlwl dwint c3 npwd 3,523,200 1 3623.2
22211500/1 | wduwagptp C3 hwuwn 1,074 3000 3222.0
phipptinnLd hwjinwpwpnipjniGGinh c3 npwd
92421100/1 nwoniwh SunwjnLpjnLG 400,000 1 400.0
pyniokiltinh Ywwnwpiwh dwupG 33 Q20 npwd
opkGunpnipjwip uwhiwGywo ntiwpkpnd
000/1
99500000/ JunswlwG whnh hhowG pw 400,000 1
dwinnigdwd dwnwnipntGlbn 400.0
Gepypwjwgnigswlwh swnrwjnipynlbbtph PLUS npwy
98391190/1 |hbwn Yuwwyws dwiuubn 8,000,000 1
8000.0
opwswithtiph yepwinpngiwl L pCUS hwn
0411
SR wwhwwiiwl wnwjnigntGbp ik L 84.8
nbhuGhlywlwb uinnigiwh rCUR npwy
71631169/ duwnwjnipyntblbp T, 000 1 L
79991160/1 | wpfuhywgiwh dwnwynipntbltbp (o npwyd 1,500,000 1 1500.0
otiGptiph b 2hGnipynibGhtiph Ywnrnigdwl me nnwa
71311110/1  |odwlnwl Swnw)nipyntbbtbp 20,000,000 1
20000.0
winnibipbGwbnh dEpwGnpngdwl G npuwad
50111130/1 SRR 29,759,000 1 29759.0




wywnnibptOwab Gpwlnpngiw FCUSs wy
50111130/2 m‘immfmmﬁbnﬂh S L 2,000,000 1 2000.0

gpwubbyulwihb hwaunnulwb uwnpptph C3 nnpwd
50311100/1  |wwhwwGiwb L yepwanpngiwh 600,000 1

SwnwnipntGGbp 600.0

UzfuwwinwGpltp

nwbhplb Epwhnpnguw me wy

4526112411 |20 Egﬁlén“ nnq m 2,982,187 L [E—
UwpwGplhp

22451200/1 |[JYwjwlwGhtp C3 hwwn 900 50 45.0
22451240/1 |plwaybtn c3 hwwn 30 35000 1050.0
22451240/2 |plwayltp G3 hwwn 60 17000 1020.0
22811110/1 | hwdwrdwb gpptip Cc3 hwn 1,800 900 1620.0
30121460/1 | tinGbpwyhl pwpwipholtn G huwin 16,684 190 3170.0
30121460/2 | wnltpwjhG pwpwpholtip C3 hwtn 3,999 80 319.9
30121460/3 | winGGpwjhG pwpunhelbp C3 hwtn 5,393 140 755.0
30121460/4 | wnGhpwjhG pwpuipheltp C3 hwn 21,000 45 945.0
30121460/5 | wnGhpwihlG pwpunphelbin G3 hwun 20,000 4 80.0
30121460/6 | ninGbpwyhh pwpunphelbn c3 hwun 22,000 30 660.0
30121460/7 | wnbbpwihlG pwpupholbip C3 hwuwn 16,000 20 320.0
30121460/8 | winltipw)hl pwpwipheltip C3 hwwn 19,000 2 38.0
30121460/9 | winGbpwjhl pwpwnpholtn C3 hwn 21,000 10 210.0
30121460/10 | mnObpw)hl pwnwnpheltip C3 hwtn 20,000 35 700.0
30121460/11 | wnGGpwjhG pwpwnphelbp G3 hwwn 18,000 35 630.0
30121460/12 | tinGbpwyhG pwpwnpheltip G3 hwwn 16,000 10 160.0
30192100/1 |nGwhG hwuwpuwl c3 hwwn 50 50 2.5
30192114/1 |pwlwp, Yahph pwndhyh hwdwp G3 hwtn 190 30 BT
30192121/1 [gphs qlnhywdnp c3 hwn 60 2000 120.0
30192128/1 |aphs qtwihl C3 hwin 150 500 75.0
30192137/1 |dwwhwn, gpudhwint dhentlyny, hwuwpwly [oR] hwwn 60 1000 60.0
30192160/1 | 2wphfultp c3 hwwn 200 145 29.0
30192710/1 |unuGdwdwwnhw, gpwubklyulwyhl (o hwwn 200 300 60.0
30192710/2 |unuGdwdwwnhwn, gpuubbywlw)hl Gl huwin 150 100 15.0
30192720/1 |qéwlzhs c3 hwn 250 100 25.0
30192760/1 |uphg, undnpwlwG G hwun 150 20 3.0
30197111/1 |Ywphsh dEnwnwiwnt Yuwbn, ginpp of] wnntth 100 400 40.0
30197112/1  |Ywphgh dhwnwnuwiwnpb Yuwbp, dhohl o wnntth 200 400 80.0
30197231/1 gﬁi‘:"u"wﬁw”’ wnhibpuwh0 puinuiGe, a LI 10 5060 —_
30197232/1 |pnpwwwlwl, wpwawlwnp, pnpjw c3 hwuwn 42 3500 147.0
30197233/1 |pnpwwwlwy, pGiny, pnpjw 3 hwuwn 8,000 100 800.0
30197234/1 |pnpwwwlwl, Ynzn Yuqginy (o8| hwn 700 200 140.0
30197321/1 |Jwphs, dhGsk 20 plipph hwdwn Gl hwwn 700 50 35.0
30197322/1 |ywnphs, 20-50 pbpph hwdwnp c3 hwn 900 50 45.0
30197331/1 |nwlhg, pwlnlny c3 hwtn 2,500 50 125.0
30197631/1 |pnine, A4 dnplwwnh1 /21x29.7/ (o] nntth 1,510 4150 6266.5
30197632/1 |pninp, A4 $npdwnh1 /21x29.7/ C3 wnntth 1,800 1500 2700.0
30197633/1 |pninp dwpuh, dwuwwytl Gl hwwn 660 300 198.0
30197633/2 |pninp dwpuh, dwwywybh G3 hwn 800 100 80.0
30199231/1 |Gwdwlh dpwp, A5 dlwswihh C3 hwn 19 10000 190.0
30199231/2 |Gwiwlh dpwp, A5 dlwswihh c3 hwuwn 30 3500 105.0
30199232/1 |6pwp, dko, A4 dlwswihh hwdwnp C3 hwtn 28 10000 276.0
30199232/1 |&pwp, ik, A4 dluwswihh hwdwn G3 hwuwn 40 2999 119.96
30199233/1 |&pwp, 06, A3 dLwswihh hwdwn Gl hwwn 835.2 500 417.6
30199430/1 |pning GanudGeph, tnpgullbpny c3 wnntth 140 500 70.0
30234630/1 |$Lt2 hhpnnnip)ntl, 8GB c3 hwwn 3,600 20 72.0
30237411/1 |ay0hy, hwiwlwngsw)hl, jwpny C3 hwn 3,000 30 90.0




30237470/1 |unbnGwpwn, unwhnwpun, 104 4ndwyny c3 hwwn 3,400 20 68.0
32411160/1 | gwlgwjhG Gppninwaqéhgbtp G3 hwn 50,000 5 250.0
35811170/1 |hwiwgqbuwn G3 hwywpwdn 680,400 5 3402.0
35811170/2 |hwdwqqbuwn o hwywpwdn 301,000 35 10535.0
39241140/1 |nwlwl gpwubljwlwihG dbinwnjw &3 hwwn 100 100 10.0
39241210/1 [Gypwuwn, gpwubbjwlw)hG c3 hwwn 250 50 12.5

qnuublywlwihb ghpp, dwwnjw, 70-200 c3 hwin
39263200/1 |tp, nnnwGh, uwhwnwy teny 700 100 —_p
39263410/1 |wdpwl, dGwnwnjw, thnpp c3 unntth 180 150 27.0
39263510/1 |utindwly, thnpp G323 hwwn 25 100 25
39263520/1 |ubnuwy, dhohl C3 hwin 40 200 8.0
39263530/1 |ubindwl, 0ké (o3 ] hwn 60 200 12.0
39292510/1 |pwlnl, wwuwnhy C3 hwn 100 300 30.0
44322100/1 |Ownifu hwiwlwpgsh, UTP cable 6 level 3 gkuinp 60 915 54.9
09132200/1 |ptlGghG, rbgnLjwp (op! thup 450 150000 67500.0
09132200/1 |ptlGghG, rEgnLywp c3 Lhwip 450.02 8977 4039.8
09211110/1  |2wpdhsh jnin, YhuwuhbGpbinply [oh] Lhwp 1,250 180 225.0

hwlwuwnrhg hbnnwy™ A nwup G3 Lhinp

UnGgLGupwlwm, A-40 nuuh® 40 C
24951310/1  |{wuwnhdwh uweiwh pEpdwunhdwbny,A- 590 90

65 nwuh' 65 C uwndwh gpdwunhdwbny 5 o
31442100/1 |Untinwlyhs dwpunynglbip C3 hwtn 26,600 16 4256
34351200/1 | wywnndbpbGwhbph whhybtp [oR] hwn 28,500 16 456.0
34351200/2 | wywnnibpbGwhbph wihyGtnp c3 hwn 33,400 28 935.2
34351200/3 | wdwnndbiptlwbbph wihdbtp G3 hwn 33,000 12 396.0
34351200/4 | wwnndtptlwlGph wahdGtp G3 hwn 52,030 16 832.48
34351200/5 | wdwnndbpbOwlbph wbhybbn (of] hwwn 22,800 56 1276.8
34351200/6 | wlwnndbptlwltph wbhdGbn C3 hwn 75,000 4 300.0
18421130/1 | atinlGnglbip c3 huwiwn 209.80 100 20.98
19641000/1 |[wnihtph EOwjhb wwpl, wnph hwdwp C3 hwwn 10 3000 30.0
31531210/1 |t GUwnpwlwh pwiw, 60W, 80W, 100W C3 hwn 84 2600 218.4
31531500/1 |gbpbywjhb [wdw 60ud c3 hwn 219 100 21.9
31681610/1 |bGUwnpwlwb wwywhndhs, dhwdpwg, 32U c3 hwtn 765 10 7.65
31681620/1 |bEbywnpwlwh wwwhnyhs, dhwdwq, 40U G hwn 855 10 8.5b
31684100/1 |Jwpnuwy GpypLtinwbh C3 hwn 489 30 14 67
31685000/1 |bEUwnpwlwb Gphwpwgdwb jwp C3 hwwn 1,600 30 48.0
33761000/1 [gniqwpwlh pning, rntnlny o] huwwn 92 1542 141.864
33761000/2 |gniqwpwGh pninp, nnnlny c3 hwn 100.7 210 21.147
39224331/1 |nny| wiwundwub c3 hwn 600 30 18.0
39513200/1 |pnpb wGdknnghl, GplGpn c3 hwn 99 400 39.6
39522250/1 | thnznt hwywpdwl Yunpbtp G3 hwuwn 200 50 10.0
39522330/1 | dwppnn Yuinpltp c3 hwwn 450 100 45.0
391812410/1 |Ywhniyph thwjtgiwl Ghong G3 huitn 600 20 12.0
39831241/1 |oGwn, atinph (op] hwin 100 50 50
39831241/2 |oBwn, dtinph &3 huwwn 200 50 10.0
39831242/1 |dwgph thnzh dbrpnd, (Jwlwint hwidwn c3 Yhingnwa 499 50 24.95
39831242/2 |Uwgph thnzh dtinpny (Ywlwint hwdwp C3 yhingpwd 600 200 120
39831244/1 |oGuwn, inlOnbuwlwh C3 hwn 65 50 3.25
39831245/1 |oGwn, htnnty C3 Lhwip 250 150 37.5
39831276/1 |qniqupwGtiph Gwppdwl Gyniphip G3 huwtn 900 30 27.0
30831280/1 |wwwlh dwpnbint Ghong C3 huin 800 30 24.0
39835000/1 |hwwnwl dwppbnt énn, wwuwndwub, c3 hwn 699 15 10.49
39836000/1 |wyb|, unynpwlwl c3 hwn 600 150 90.0
39837000/1 |gwfuwyb) c3 hwn 470 30 141
39839100/1 |gnawpehwl, wnpp hwdwpbint hwdwp, o hwn 130 30 3.9




44411120/1 |onh énpwy, 2 thwlwlng (R hwwn 2,800 10 28.0
44521120/1 | nnw thwywbbbp c3 huwwn 3,500 15 52.5
18511180/1 |obnwiGtp, YnépwhowhGtbn G3 hwn 10,000 50 500.0
18511180/2 |tbinw 0k, YndpwwhGitn 3 hwn 25,000 100 2500.0
33 nuunwhwgnipjwl wwhnunwihb dnln
Pwdhh 03 bunwdp 04 Twu 01 Spwaghp 02
nwnwdplb wnawlwnipjwb PCUSR wy
70311200/1 mﬂr‘wmfmn‘:gﬁ‘in“ HwLnte) L 560,000 - 1 o
tonnwlwl nbup nubbgn rCUR hwiwn
31521470/1 gﬁnglerummiﬁbn Ll 164,000 2 328.0
30239120/1 nyhy uwpp, pwqiwdnibyghnbwy, A4, 23 G3 hwun 105.000 3
ko/pnuyb wpwgnipjwG ' 315.0
32551160/1 | htnwfunuwhG uwppbpn cl hwun 69,900 2 139.8
32551160/2 | htinwfunuwjhG uwpptip (of] hwn 65,000 8 520.0
SwhwwwnphObph uywuwpydwh G3 hwn
34921100/1 uwnpwﬂnr‘]‘m ﬂﬁfg;] ny 747,000 1 2470
39531700/1 | nintignpgkin c3 pd 20,000 24 480.0
39714220/1 |onnpwyhs, 12000 BTU C3 hwn 180,000 8 1440.0
64211280/1 | ip htinwfunulbp c3 hwn 125,600 1 1256
Lpwgnigh Ynpnipntl
PwdhG 09 lunudp 05 Nwu 02 Spwahp 03
wfuwinwlhgbbiph Yepwywnpwundwb PCUS npwd
80511100/1 |SwnwnipjntbGhtp 17,747,300 1
17747.3
33 ywrwywpnipjwl wwhniunwjhG nln
PwdhG 11 bunudp 01 Swu 015pwqhp 01
30211200/1 | ynipwyhp hwiwywpghsGbn (on] hwuwn 400,000 5 2000.0
30211220/1 | ubinwGh hwiwlbwpghsGbip G3 hwn 290,000 100 29000.0
ulw b, hwdwyw hwdwn, c3 hwwn
30216112/1 ph”npwj?]ﬁ hunggh hwdwp 280,000 2 —_—
30239120/1 wnwhs uwnp, puqiwnibyghnbuwy, A4, 23 G3 hwn 110000 35
to/pnuyb wpwqnipjwG ' 3850.0
31151120/1 | wifuwthwG ulnigdwh wnpnipltn c3 hwn 30,000 5 150.0
32333300/1 | pywjhh nbuwdw)bGwanhsbtip (o hwwn 200,000 1 200.0
32411160/1 | gwlgw)hl Gppninwadéhsbtin G hwuwn 240,000 1 240.0
32551160/1 | htinwfunuwhb uwppbp G3 hwin 25,000 5 125.0
35121320/1 | whyinwbgnipjwl nbuwfughlyGbp C3 hwn 80,000 6 480.0
39121100/1 | gpwubnubbtp c3 hwin 30,000 10 300.0
39121520/1 | gpwuwwhwpwGbp (oR] hwtn 45,000 5 225.0
39138320/1 |pwqlwpenn, 2wpdwlwa, Yunnphg c3 hwn 30,000 38 1140.0
39714250/1 [onnpwlhg, 30000 BTU oR hwn 500,000 2 1000.0
42121190/1 | 9nh wndwktip 3 hwn 80,000 1 80.0
Upunwuwhiwbjwl wwawnnGwlwl qnpénunnuillp
PwdhG 01 bunudp 01 Twu 030pwghp 04
tnweninwihl tnnpwluwnpun PRUR wa
60211100/1 hnwufu[hr}:gtj{r:m dfunwjnmijnLU%mndu) mn 145,000.00 ok
wanGuwunp onwyhG thnfuwnpiwh G3 wy
6041120011 gwannLléjr[:L[]r(Lw]LFhLqu}]nrgu)qn w 269,000.00 1 269.0
LuwOnGwynp onwjhG thnfuwnniwG pCUR npwad
60411200/2 |Swnwynipnth (wihwwindu) 5,609,974.00
1 5609.974
99600000/1 |alnLd shwhnhuwgnn wyl dwiuubp Q20 npwd 27.,456,351.00 1 27456.351




